Kmin

Kmin

Area Intensity Velocity X Velocity Y o Total Lifetime
R R 8- R o
— VS1 -\ — VS1 — VS1 — VS 0 VST
o == V82 \ == V82 == VS2 o == VS2 0o | VS2
: : : Ee-
X X X X
~ m_ ______________
+60 +120  +180 +15  +60 +120  +180 +15  +60 +120  +180 +15  +60 +120  +180 S 30-60  120-360
Lead Time [min] Lead Time [min] Lead Time [min] Lead Time [min] Nowcast Time [min]
Nowcast Time: 5m s ().5—1h == 2_3h
Area Intensity Velocity X Velocity Y o Total Lifetime
R R QT R N
— VS1 — VS1 “ — VS1 — VS1 0 VST
== V82 == V82 == VS2 == VS2 0 VS2
2 - 2 - =
o : : ; Eo-
— X X X X

T -
-~
=T~ o~

+15 460 4120  +180 +15 460 4120  +180 +15 460 4120  +180 +15 460  +120  +180 5 30-60 120-360
Lead Time [min] Lead Time [min] Lead Time [min] Lead Time [min] Nowcast Time [min]
Nowcast Time: 5m e () 5—1h e 2_3h



